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Total No. of Printed Pages: 3 

SUBJECT CODE NO: - ZZ-1535 

FACULTY OF HUMANITIES 

B.A F.Y (Sem-II)  

Examination March / April - 2023 

Economics - III (Compulsory) Micro Economics - II 

 

[Time: 1:30 Hours] [Max. Marks: 40] 

Please check whether you have got the right question paper. 

 

N. B 1) All questions are compulsory. 

2) Use blue or black pen only. 

3) Use pencil for diagram. 

4) Use of any signs, attracting attentions is prohibited. 

 1) सर्व प्रश्न सोडवर्णे आर्श्यक आह.े 

2) फक्त विळ्या ककिं र्ा काळ्या पेिचाच र्ापर करार्ा. 

3) आकृतयािंसाठी पेन्सीलचा र्ापर करार्ा. 

4) कोणतयाही लक्षर्ेधक र् सािंकेविक खुण करण्यास प्रविबिंध आह.े 

 

Q1 A] Answer Multiple Choice Questions (Attempt all)  

1. How many stages is Law of variable proportion  

a) Two     b) Three    c) four     d) Five  

2. In which market there is only one seller. 

a) Perfect Competition                b) Monopoly  

c) Monopolistic Competition      d) None of these  

3. Who has stated the concept of Quasi-Rent? 

a) Recardo       b) Marshall      c) Pigou      d) Hicks  

4. Which production factor gets Interest? 

a) Land          b) Labour       c) Capital      d) None of above  

5. In which market there are many buyers and many sellers? 

a) monopoly                                  b) Perfect Competition       

c) Monopolistic Competition        d) None of above  

खालील बहुपयावयी प्रश्न सोडर्ा. (सर्व अविर्ायव)  

1. बदलतया प्रमाण वियमाच्या ककिी अर्स्था आहिे? 

अ) दोि      ब) िीि     क) चार       ड) पाच  

2. कोणतया बाजारपेठेि एकच वर्के्रिा असिो? 

अ) पूणव स्पधाव         ब) मके्तदारी       

क) मके्तदारी युक्त       ड) र्रील पैकी िाही  
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3. आभासी खिंडाची सिंकल्पिा कोणी मािंडली? 

अ) ररकाडो     ब) मार्वल      क) वपग ु     ड) वहक्स  

4. कोणतया उतपादि घटकास व्याज वमळिे? 

अ) भूमी    ब) श्रम     क) भािंडर्ल     ड) र्रीलपैकी िाही  

5. असिंख्य ग्राहक र् असिंख्य वर्के्रिा कोणतया बाजार पेठेि असिाि? 

अ) मके्तदारी               ब) पूणव स्पधाव     

क) मके्तदारी युक्त स्पधाव       ड) र्रीलपैकी िाही  

 

B] Answer in a sentence (attempt all)  

1. What is meant by production? 

2. What is variable production cost? 

3. What is meant by selling cost? 

4. What called to innovation? 

5. Who wrote the book ‘Economics of imperfect competition’? 

ब] एका र्ाक्याि उत्तरे वलहा. (सर्व अविर्ायव)  

1. उतपादि म्हणजे काय? 

2. बदलिा उतपादि खचव म्हणजे काय? 

3. वर्क्री खचव म्हणजे काय? 

4. िर्प्रर्िवि कर्ास म्हणिाि? 

5. अपूणव स्पधेचे अथवर्ास्त्र हा ग्रिंथ कोणी वलवहला? 
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Q2 Explain concept/terms/units/events (any two)  

(word limitation minimum 60 for each answer)  

1. Production function 

2. External Economics  

3. Marginal Revenue  

4. Quasi Rent  

सिंकल्पिा/सिंज्ञा/घटक/घटिा स्पष्ट करा. (कोणिेही दोि)  

(प्रतयेक प्रश्नास ककमाि 60 र्ब्द मयावदा) 

1. उतपादि फलि  

2. बाह्य बचिी  

3. सीमािंि प्राप्ती  

4. आभासी खिंड  
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Q3 Attempt answer in short (any two) 

(word limitation 60 for each answer) 

1. Explain the concept of opportunity lost. 

2. Explain the Long run average cost curve  

3. State the features of monopolistic competition  

4. Write in short innovation theory of profit. 

थोडक्याि उत्तरे वलहा. 

(प्रतयेक प्रश्नास ककमाि 60 र्ब्द मयावदा)  

1. सिंधी खचावची सिंकल्पिा स्पष्ट करा. 

2. दीघव कालीि सरासरी खचव र्क्र स्पष्ट करा. 

3. मके्तदारी युक्त स्पधेची र्ैवर्ष्ट्य स्पष्ट करा. 

4. िफ्याचा िर्प्रर्िवि वसद्ािंि थोडक्याि स्पष्ट करा. 

 

10 

Q4 Answer in detail (any one)  

(word limitation minimum 200 for each answer) 

1. Explain how the price of good is determined in perfect competitive market. 

2. Critically examine the Ricardian theory of Rent. 

सवर्स्िर उत्तर वलहा. (कोणिेही एक)  

(प्रतयेक प्रश्नास ककमाि 200 र्ब्द मयावदा) 

1. पूणव स्पधेच्या बाजारपेठेि र्स्िूची ककिं मि कर्ी ठरि ेिे सािंगा. 

2. ररकाडोच्या खिंड वसद्ािंिाच ेटीकातमक पररक्षण करा.  

10 
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